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PART - I: GENERAL ENGLISH

Choose the preposition that means ‘on.account of ’.

(1) ahead of @ f.iue to
(3) along with (4) in spite of

It’s time you ....... to bed.
Choose the correct form of the verb to fill in the blank.
(1) had gone (2) will go

@" go (4) went

As I was going to take my first step, I heard my father's voice.
This sentence has an adverbial clause of :

reason (2) time
(3) condition (4) place
This money purse appealed ....... me.
The correct preposition in the blank is :
(1) , by (2) for
@/ to (4) with

He has done his homework. He went out to play.
Choose the sentence that combines the above two sentences.
(1) Having his homework, he went out to play.
(2) Having no homework, he went out to play.
(3) /Having done his homework, he went out to play.
4y He neither did his homework nor went out to play.

Choose the grammatically correct sentence regarding the use of articles.
(1) » The honesty is the best policy.

( The cricket is an expensive game.

(3) The gold is a valuable metal.

The sky is blue.

Ravi said, “I am not her husband now”.

The correct reported speech of this sentence is :

(1) Ravi said that he has no wife now.

(2) Rauvi said if he was not her husband now.

(3) Ravi said that he had not been her husband then.
(4)" Ravi said that he was not her husband then.

Choose the sentence in passive voice.

Every child is born with some inherited characteristics.
(2) -1 was eight years old then.

I used to wear a cap.
{4) You should not spread the poison of social inequality.
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9. Start immediately or you will miss the bus.
This sentence means :
(1) -If you start immediately, you will miss the bus.
\ If you start immediately, you will not miss the bus.
(3)  When you miss the bus, you start immediately.
14 If you started now, you would miss the bus.

10. If he had asked me, I would have ....... him.
The correct form of the verb in the blank is :
(1) to be help. (2) - helps.
(3 helping. helped.

11. She is an animal for animals.
Thedigure of speech in the above sentence is :

Metaphor (2) Pun
(31 Simile (4) Hyperbole
12. The bus is moving fast.
This sentence indicates :
,@/:m action In progress. (2) an action of future.
3 futurity. (4) an unreal past.

13. They were blessed with the birth of a healthy baby.
The noun in the above sentence is :
~1' blessed @ birth
13 healthy (4) they

14. Choose the writing activity that contains a title.
(1) -a conversation. (2) a diary entry.
‘V@ a news report. (4) a letter.

15. When we want to keep our personal feelings in a written form, we write

\t&}?’ln :
a letter. @ a diary entry.

(3) a news report. (4) a poster.

16. In a personal letter, the main point is written in :
(1) the post script. (2) the closing.

(3) the opening. \b”’ the body.
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17. A letter of complaint can be :
(1) a personal letter. \{,, an informal letter.
(3) a business letter. a formal letter.

18. The first sentence in a news report gives :
(1) the message of the event.
\_,@ the summary of the event.
(3) the details of the publisher.
(4) the details of the persons involved in the event.

19. Choose the correct spelling of the word
(1) baneath beneath
(3) bineath (4) beneeth

20. Choose the sentence that ends with a full stop.
(1) . Don’t you like it (2) Don’t start now
\i}'}’}f Do they sit here (4) Don'’t they sit here

21. In the title of a poem, the following should always be capitalised.
(Y The first letter of the first word.
(2) The first letter of every preposition.
(3) The first letter of every helping verb.
(4) The first letter of the word 'the'.

22, Choose the expression in which the apostrophe shows possession.
(1) it's (2)  can’t
@ a women's hat (4) won't

23. Choosge the word with correct spelling.
(LY occurence (2) occurance
@ occurrence (4) ocurence
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24, Can I use your mobile phone ?
This sentence can be used :
to take permission. (2)  to offer something.
3! to express ability. (4) to know the capacity.

25. I will lend you some money.
This sentence expresses :
1/ refusal (2)  hatred
willingness ; (4) request

26. Someone invited you to attend his / her birthday party.
Choose the sentence that expresses your refusal.

(1) By all means. (2) _I'll be glad to come.

(3) I will try to be punctual. I won't be able to come.
27. Would you mind lending me your watch ?

This sentence indicates :

(1) making an offer. (@) making a request.
{Vmaking a suggestion. (4) refusing a request.

28. Your friend borrowed your bike and damaged it. He apologized by saying ‘sorry’.
You don’t want to accept his apology. Choose the expression that you use to
express your refusal.

\1['1,} Forget it. (2) It’s ok.
@ What's the use of saying ‘sorry’? (4) It’s all right.

29. She got into financial troubles.
Choose the meaning of ‘got into’.
became involved in. (2) disappointed by.
(3) found and solved. (4) took and gave.

30. Choose the word that stands for a positive attribute.

meticulous (2)  sullen
(3) mean (4) obnoxious
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31. A publisher’s note savs : all rights reserved.
The meaning of rights' in the above sentence is :
@ authority. (2} Interests.
\1'31 problems. (4)  1ssues.
32. We cannot get the basic needs because the ... was degradoed.
Choose the correct word that {its the context.
(1) environmentally. "\@ environment.
(3)  environmental. (4) environmenting.
33. Gopal is good at using imagination to make things.
Thissentence says that Gopal is :
\@/zﬂ*eat,iw. (2) valiant.
(3 dependent. (4)  sociable.
34. Govind is a stupid boyv .
Choose the antonym of “stupid’.
(1! forbidden \@/ sensible
(31 special 4)  tidy
35. John is a reliable person.
[dentify the synonym of 'reliable’.
@ dependable (2)  obedient
(3] generous E creative
36. Have vou got the receipt for T.lw prumium ?
The part ol specech of ‘receipt’ |
@ Noun Verb
(3)  Adjective 4! Conjunction
37. Choose the relative pronoun from the following.
(11 themselves (2} hersell
(B 1k who
38. A man with spiritual beliefs says that ... man is a mortal.

Choose the correct article that [its the context.

(1) & (2) an
\{}/ﬂm @ No article is needed.,

M-General English/Book-D 6]
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{39-43) Read the following passage and choose the correct answers to the

39.

40.

41.

42,

43.

\Y

questions that follow.

There are many kinds of sports that are undertaken by a wide variety
of different people. Some people do sports for their career and some others
for enjoyment and recreation.

Most sports are played with a round object often known as a ball.
Snooker is one of the unique sports that make use uf a number of balls
while being played.

Many people prefer to watch sports. It is cheaper to watch sports on
television than to visit the stadium. Some sports like cricket need a lot of

equipment. Sports such as football and cricket are very popular in India and
the United Kingdom but not in the U.S.A. and the US.S.R.

Participation in sports is encouraged by doctors. It is believed that
participation in sports will improve the competitive spirit and nature
among the individuals.

Cricket is not popular in :

(1) ustralia (2) the UK.
The U.S.A. (4) India

Participation in sports :
(1) _can reduce the competitive spirit.
can increase the competitive spirit.
(3) can minimise the enjoyment.
(4) can improve the popularity of cricket.

The sport that requires a lot of equipmept is :
(1) Football \@)Ericket

(3) Baseball (4) Rugby
Some-people choose sports :

for recreation. - (2) for spirit.
(3) for using equipment. (4) to go to the US.A.

Choose the true statement based on the information given in the passage.
(1) We don’t use round objects in many games.”*~

(2) We use balls only in ericket.

(3) ~Snooker is not a ball game. < I\/

Cricket is a popular game in India.

M-General English/Book-D [7]
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44. A person, who possesses many talents, is a :
(1) polyglot (2) theist
(3) prodigy @ versatile
45. Choose the singular noun from the following.
(1) fungi (2) phenomenon
\(y/ data (4) errata
46. This is an old - fashioned bureau.
The word 'old - fashioned' is :
(1) a compound noun.
(2) a compound preposition.
a compound adjective.
(4) a compound verb.
47. Choose the reduplicative that means 'very small'.
(1) see - saw. \@/ teeny - weeny.
(3) tip - top. | (4) helter - skelter.

48. Choose the right collocation of words [rom the following.

(1) warmly cold. (2)  outstanding cold.
(3) pitch cold. (4)” bitterly cold.

49. Choose the word that refers to a hand written document.
(1) Stopover (2)  Verbose

\@/Manuscript (4)  Documentary

50. Music is not only Rahman’s bread and butter but also his passion.

In the above sentence, the meaning of ‘bread and butter’ is :
(1) lifestyle. v@/l;velihﬂﬂd.

(3) entertainment. (4)  post production work.

M-General English/Book-D [8]
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PART II : BIOLOGY

ol. Priprary urine is .......
( Liquid in PCT. (2}
3) Liquid in DCT. ®

LS BerDe wall

e Lo S "E ¥ el
B § ECHCOCIEE T A AL (2)
(3} SFGE Beboied s (hta (4)

92. ldentify secretion from the following.

Q. Booklet D

Code

Liquid in loop of Henle.
Filtrate from glomerulus.

Tears (2) Urine
(3) Sweat '54// Saliva
36D DUE Poadss fafoded.
(1) 555 (2) Sarsiw
(3) S 4) Tormos
Bas L isease that is not due to vitamin deficiency is .......
.\j Marasmus (2} Rickets
(3) Pellagra (4) Anaemia
Bel TG Delek WPer FO TS
(1) oowige (2) T3¢
(3) e (4) THre
94. Read the following symptoms and identily the disease. A - \

(A) Swollen body parts  (B) Poor muscle development

(C) Fluffy face (D) Dry skin (E)

Diarrhoea (% - e

(1» Kwashiorkar (2) Marasmus
(3)  Scurvy (4) Beri Beri I
328 TQ o¥ereie BOL, e LTUm Tubed
() &l 20U Pires (@) Sl Bodore Dbl
(321 &80 Zaspo (&) POl Whe (3 ZDuoen
(1) Z.adirh.g (2) Teoiss
(3) 'EE‘_.:?_: (4) DoET
55. The valves in the veins were discovered by .......
1)  Malpighi (2) Harvey
Fabrici (4) Hufnagel
noes ed ot TtaT0 Hgadh TRG
(1) srfd (&) %,
3] >hHb (4) F#TERE
36. Oper type of circulatory system is present in .......
x(zﬁ?& Octopus (2) Camel
Snail s (4) Sponge
MG U3 SH0e TR e g
(1) wg%E o (2) w3
(3) =& (4) o8y
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29.

60.
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Code

(1) Seeds (2) Leaves
(3) Stolons (4} Spores

b B - - 3 LT L] o Tl it
;:5:1 u.':-..‘:ﬁt,ﬁi B8N0 mSIL RED

(1) Acme o (2) o ouo
(3) elie oo (4) =6 Lere oo

D

The energy that is produced during respiration is ...
(A) Stored in ATP (B) Used to maintain body temperatur
(C) Used for daily activities. (D) Excess released in the from of heat
(1D~A and C (2) Aand D
A,B,Cand D (4) A, BandC
To@old’ QeEoBS ¥3
(2) ATP &° Je; dowood.
(D) 305 &P T;LerI3 WIBFACHLEBICO.
?)  Temd DrEron SIAFNoNEBes.
(&) Qxom & 98 difo Ssed’ Deate wptucd.
(1) & %Ho8asw & (2) & Woboin &
(3) &, H, o500 & (4) &, &35080®
The tadpole larva of frog resembles the fish. It is an evidence of .....
(1 _ Embryology €2) Palentology
M Morphology (4) Bio-chemistry
5 Soo¥), PGPS Gogtios Tk FE dowvcd. 58 O LERSD DESH?
(1) =c&Eyd Togow (2) e T35
(3) Jowyes TR (4) B0 Tgmes
The inner most layer of Uterus is ......
Endometrium \_12')/ Chorion
(3} Allantois (4) Amnion
rovysaioies &%9
(1) Se&olose (2) BoPatisd
(8) wdoitas (4) Seowe
The method of reproduction in fern is by ....

61. The plant that is in shade, bends and grows towards light, because ....

more auxins are secreted on dark side.
more auxins are secreted on light side.
(3) plants love light and heat.
(4) auxins have no effect on growth.

R "'E L By gt == - T W LT T M o W - o o
el GO w3, T wig) Wil 2lONSWES TRUMLWY
B e = g N - T, owr O B L,
{ 1 ) L """“E: w:'a-.:"',w S35l GO S odgs
- L*] L e
& - [T KT = e a - L - T S W
(2) Teodole 9 %0 sl &80 wibile,
— -t = . Lol
i 3 == Nt g AT N B i NG A s >
(3)  wesfjee Weolels, wa wol sSET L.
Lo = )

- Ty T L = ol B L — R, A L
(4) SeoBe Lhoibles wswe SN astide.

— Ll
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62. Match the following and find correct answer :
Alkaloid Part of the plant
(A) Nicotine 1. Fruit
(B) Morphine 2. Root
(C) Reserpine — —— 3. Bark
(D) Quinine —_4. Leaves
(1) A-3 B-2 C-4 D-1
2) A-4 B-3 C-2 D-1
@ A-4 B-1 C-2 D-3
4 A-2 B-3 C-4 D-1
328 TR wBR0D HON BHrpTERN Bofithod.
€30), P0G 200K, PrIT0e
(A) J5%35 1. Pons
(B) 5780 2. W
(C) 858y 3. D&
D) 35 4., e
(1) A-3 B-2 C-4 D-1
(2) A-4 B-3 C-2 D-1
(3) A-4 B-1 C-2 D-3
(4) A-2 B-3 C-4 D-1
63. If you drink more water on a rainy day, then ....
ore Vasopressin is produced.
(B) Less Vasopressin is produced.
(Cr More urine is excreted.
(D) Less urine is excreted.
(1) A and C are correct. (2) B and D are correct.
(3) A and D are correct. (4) B and C are correct.
Do %80 B DY Mo DB ([@ABe3020D -
(A) JBEHS QE N &S wPBoch.
(B) W0 8555 656,38 ephBoch.
(C) 5% SorEe AdCctwistoos.
(D) 558 JorBe Jdfonwiotoch.
(1) A S0a%e C 9o, (2) B So8ake D &TRA.
(3) A s09a%» D %, (4) B sodaun C 3$gwe.

M : Biology/Book D [11]
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66.

67.

68.
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| |

Identify the incorrect statement

(1) Oestrogen is secreted by females only.

(2) Somatotropin is secreted by Pituitary.
Adreno-corticotropic hormone is secreted by Adrenal.

(4) Testosterone is secreted by Testis.

QIEI- ""l:n:jﬁ éw'\. u.-n-.l qm'- JJUS‘EE&:

[1) u—alfﬁi..g o8 J[_Eﬂi} &S0 &@&JGE

(2)  Soiora (e teod are g TR S0y spBol,

(3) &&58 Hed Sood wds 505° (e705 93555‘»1&: &80 wPdoch.

(4) hmﬁrb..:.: wﬁ:amgﬁz GCHO uﬁﬁw

Identify the structure that is not part of Central nervous system :
(1) Optic lobes. @ Dorsal root ganglion.
(3) Cerebellum. (4) Medulla.

So8 & Sl TG BN FPIRS TO.

(1) & codses (2) SikeTo mofcion

(3) eRodowR,Ree (4) Sosphoopson

The winding of tendrils to a support is an example for .......

(1) Phototropism (2) Geotropism

(3) Hydrotropism (4) Thigmotropism
5088 ool BuEsswe

(1) =od wiondne (2) olorgioidine

(3) o3 esionyse (4) HoyoHgDe

Find the correct sequence of Reflex arc :

(1) Detector—Spinal cord—Sensory nerve—Motor nerve— Effector musci
(2) Detector—Motor nerve—Spinal cord—Sensory nerve— Effector musc!
(3) Effector muscle—Motor nerve—Spinal cord—Sensory nerve—Detecto
(4) Detector—Sensory nerve—Spinal cord—Motor nerve— Effector musc

@-‘E'E‘ﬁ DTFTPRRN GA03), o u.:u.a""'""'cﬂ olotod.
(1) rSe - A - POTPe - TPOSTG — BgP
(2) [mSe - TrOETC — Ibm.:dﬁ“‘:.a:.. — PUTC
(3) DePsE Sckle — TOSTE - WnlRR - PTG > [TTEe
[erSe — ﬁm;‘é — TR > TOETE —> BTN Soklc

Nissal granules are present in .......

(1) Heart (2) Lung
Nerve cell (4) Kidney
TS Sedsen Ho ATHeNw
(1) oo (2) &42008
(3) TEEeanos (4) Sordwodne

M : Biology/Book-D [12]
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69. Match the following and mark the correct answer :
Scieniist Proposal
(A) Lamarck 1. Acquired characters can’t be inherited.
(B) Darwin 2. Inheritance of acquired characters.
(Cr Weismann 3. Natural selection.
(1) A-1 B-3 C-2
2) A-2 B-1 -3
@) A-2 B-3 C-1
(4) A-3 B-1 C-2
308 IV wHROL VIO VAFrSEEL SeiTied
G‘:’fh{:;- wPode
(A) ourl), 1. =38 KeFed wnobedsd TeS.
(B) =0 2. &0B forPe BNeds
(C) &8ss 3. %0 dbewe
(1) A-1 B-3 C-2
(2) A-2 B-1 C-3
3) A-2 B-3 C-1
4) A-3 B-1 C-2
70. Minimata disease is due to pollution of ....
VLT TS TPURISN SPedy TSR
(1) Fe Hg
(3) Cr (47 Ni
71. The part of the flower that grows into fruit is ....
(1) Owule (2) Ovary
(3) Embryo-sac (4) Integuments
ST WG LSeo Qd0ol), R
(1) eos8%s (2) weiPBdbiowss
(3) woxs%sos (4) wollyores
72. Anti Retroviral Therapy (ART) medicines are supplied to ...
{1) avoid vitamin A deficiency. (2) avoid vitamin D deficiency.
(3) avoid Polio. @ HIV sufferers.
wekd 5@?&5 Goa (ART) Soclow EED
(1) eslob A §%c olse (2) Lol D e oo
(3) SLXr o (4) HIV goovs:

M : Biology/Book-D [13]
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73.

74.

75.

76.

(1) Survival of the fittest.

(2) Variations are there in population.
More offspring is produced.

(4)) Acquired characters are inherited.

o8 T3E° il BOFBoTN BTreB
(1) GOrrsdmoRD FYE DWH

(2) wwged DGR GOLTFO

(3) aTer «Boyd

(4) <388 Horro EloNedsE

M : Biology/Book-D [14]
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The structure that is considered as second brain in our body is ...
( Spinal cord (2) Autonomic nervous system.
\@ Nerves of digestive system. (4) Endocrine glands.
001 $05806° ToH PBEMT DeoSLT ITHEFS
(1) I (2) BsoWolos Taugss
(3) St Sowehowd TEws (4) eoBgFPNOH B0
The cranial nerve that controls the muscles’of the Jaw is ....
(1) 2nd cranial nerve & @ 5th cranial nerve
(3) 7Tth cranial nerve 1) 10th cranial nerve
SHEE% Sotbhae 55850 Joko@ows SroTrd
(1) 2% srerd (2) 55 srori
(3) T% Sromrd - (4) 10% sarod
The chromosomes can be seen in ......
(A) every cell always.
(B) mitotically dividing cell.
(C) meiotically dividing cell
(1) A (2) A, BandC
3 C : B and C
S nes Edhows Srres
S o SePe, JTEF
£, PDholmt mloiobod, Smo
W, SCOETe Pes slolbdoy, S0
(1 2 (2) o, D H538akn
3) = (4) & 5s8c30
Pick the theory that is proposed by Lamarck :
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78.

79.

80.
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Let us observe the pathway of air and identify the correct parts to fill the boxes.
Nostrils — Nasal Cavity - | A |- Larynx —» | B | - Bronchus

— Bronchioles —» Alveolus — Blood.
(1) A Buccal cavity and B Trachea.

@) Pharynx and B Buccal cavity.
( A Pharynx and B Trachea.
4)

A Buccal cavity and B Pharynx.
Bol DHgeadks O HIT SFFH BESod, PP0E’ Goliseln Prets Howod.
T So(Pew - TRt BiSe | A I—r Boads - | B l—:v- TG TR

— T TV — IS Arowo — S
(1) A esidgsoimiinn $o0ain B oraiomdin (2) A (RS Solaixn B esidgSolrdnm
(3) A (650 Solake B Trakn &N (4) A esidg EimUne se0dh B i

The correct equation for aerobic respiration is .......
TPOSD HavD TGOS0 Bowofow HTH HassBEIN
(1) COs + Hy0 — (CH,0),, + O,
@ {CHED]H + 02—} CDE = H20+ EI'IEI'g“}'
(3), 6CO, + 6Hy0 — CgH,506 + HyO + 60,
CgH 904 + 6H;0 — 6CO; + 6H;0+ Energy

Identify the structure that is not an extra embryonic membrane :
Yolk sac (2) Chorion

(3) Amnion (4)) Placenta

3cd IS Wood g Bt T A KoZowed.

(1) »S[ow (2) J[oroioR

(3) &oys (4) =oro¥ooRy

In Parthenogenetic animals :
(A) The ova develop by meiotic division.
(B) The sperms develop by meiotic division.

. (C) The ova develop by mitotic division.

(D) The sperms develop by mitotic division.

The correct answer is .....

(1) A&B (2) /B & C
A&D C&D

SIRE 2vEL (FETRINS) 20D notoyes’

(A) womres SoUSHr QgED THOP G ETC.

(B) %o¥¥ewes EolhiEUes Il Th0° S G0,

(C) eohren SRoAPEN SO JURETPoR

(D) BoESeres SR PET TT OGS,

[OH BRCISE .

d  (A) Be8cxe (B) (2) (B) %s8as (C)
(3) (A) =08ci» (D) (4) (C) %2803 (D)

M : Biology/Book-D (15]
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81. Read tﬁe following reaction.
H,O_Lght _ H+ 4 OH-

It 1s generally called ......

(1) Photosynthesis \,® Photolysis
(3) Dark reaction (4) Assimilation

300 BaoBUPR, BEBod,
HyO —=2€ o H+ + OH-
Bl SUrsoiT 3T sowrdo.
(1) 30eeds SoG 3ok (2) S oD JzEes
(3)  Jach L (4) rsrgs 3
82. The scientist, who showed that O, is released from water during
Photesynthesis is ...

Van Niel Hill
(3) Lavoisier (4) Mohl
e HOGIN (FoNd® il Tocd eyl JesHEIBOoED JFLOID TGHY
(1) =556 (2) &
(3) 3F2&EE (4) 2rd
83. The light independent reactions of Photosynthesis are carried out in ......
(1) _Grana of chloroplast. (2) Cytoplasm of the cell.
Stroma of chloroplast. (4) Outer membrane of chloroplast.
3esesity Sod@rHIah: Ulkob LU 4RIt ol EaTE
(1) PEECeny s (2) Sexssood®s pltipindodt
(3) <05ty @GP yrriss® (4) wOBTeny wimnedt
84. Identify the recessive trait in Pea plant.
(1) _Purple flower (2) Round seed
Constricted pod shape (4) Yellow seed
ST BE,E° etTB virse
(1) TE woe HFo (2) Koo Sgke
(3) Wooldes BT svdb (4) JS{Teio LBe

85. In humans, the chromosomes present in sperms may be ....
(A) 22+x (B)22+y (C)22 + :32/[[}} 22 + xx

(1) Aonly - : only
(B) A&B C&D

HIGRA BE Srmed’ dcl ERrENer winvs:
w) 224+x (@) 22+y () 22 + xy (&) 22 + xx

(1) 2 smgRe (2) O Soigds
(3) o 08ckw D (4) 22 55805m &
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86.

88.

89.

M

Q. Booklet
Code

Haustoria are

(1) roots useful for respiration.

(2)  structures that absorb digested food in the intestine.
'3) _structures that help to hold the host in Annelida.
\@f tructures that absorb water and food from host plant.

-"':.' = arhLilh] 'E.-'MH

1) T30 Suarmsd e:..;
2) &Eﬁ@?’béﬁ ::%e:-:a.:ra LTI St v SThETED
3 exdo u-ii"ma O300d sodBe EB:.'J-:;.FW... ﬂwﬁ" STETED

4) @Ué)% LJJ-.:L ot bﬁ: wolodas EJED“MLI ﬁ_'fz.a"ﬂ'u w?&tﬁ‘m

To avoid delay in blood clotting, the vitamin to be given is .....
(1) witamin B-Complex (2) vitamin A
g}/vitamin K (4) vitamin E
5900 Nt5¥ee08” eodr) 28°0oEmad FRmelsS Deled
(1) De::a...'rg B 5ok, (2) Destom A
(8) e K (4) <wow E
Consider the following and answer the question.

Grass — Grasshopper — Frog — Snake —» Hawk
The primary consumer in the food chain is .....

( Frog (2) Grass

@/ Grasshopper (4) Hawk

SO0 Nsised SINP Ateols BENeG. @95 SErete Taled.
NG — Q0ld — 585 — o0 — (1S

e5:5883) eudod® (eoos

(1) %5 (2) #&
(3) &5 (4) S

%y

Contour strip cropping is useful in ...
protecting land from erosion.
protects crop from pests.

(3) reduces water requirement.

(4) helps is Bio-diversity.

srewrd e Howe DEG DD EVEFIRD

(1) Seio Foke Sood SarEses (2) Sewhs Bed wod Svarse
(3) &3 esuior), BActewo (4) &5 DAY Doteso
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90.

91.

92,

93.

94.

Q. Booklet

Code

Sedative is extracted from ....

Datura plant (2) Neem plant
(3) Coffee plant (4) Cinchona plant
Bty Sookisie e ooy, Bood BAPE> Do,
(1) &soo (2)
3) s oy, (4) oS
Rubber is produced from ....
(1) Tanin (2) Gum
(3) Resin Latex
TetoRo Dook,e DoY), T &8y Sood BTG I,
(1) 5 (2) 2t
(8) ©°hHS (4) ¥aE,

Most poisonous of all excretory waste products in the cell is ...

\}37/ Bile pigment Ammonia

Seaiod’ Mool eBob DRPOBRS Y SERGHD

(1) CO, (2) car8ar
(3) DS HBSBL (4) sARIasr
Identify the wrong pair :
(1) Bread mould - Saprophyte
(2) Cuscuta - Parasite
(3) ,Paramecium - Autotroph
Amoeba - Heterotroph
308 T3E® By BB Kotod.
(1) &9 e - Yoo
(2) s - SO &
(8) olohee - Bgooo s
(4) esdoer = Petotw T
The special structures present in Dodder. are ....
(1) Suckers \}2‘)/ Hooks
(3) Haustoria (4) Aerial roots
womto 8l (o) & &cld gy AT
(1) eocwodden (2) SHe
(3) AP0 (4) TS Ity
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95. The muscular activity is controlled by ....

- Dorsal root of Spinal cord. (2)  Autonomous nervous system
@ Ventral root of Spinal cord. (4) Cranial nerves.
SeiY Tenrly AoNCBoD JTHesEss
(1) [dyIFaee PR Bareios (2) HoRedfos wd g2
(3) Jhrha SS8U BarocBe (4) =0 oo

96. The formation of pollen tube is an example for ...

(1) Phototropism Chemotropism
(3)  Hydrotropism 14)  Geotropism

BN U Ayoes Y STENSe

(1) =ed eRoduounmn (2) OFaRlmroclgisto
(3) ;".;3 eSRoNTSH (4) HBogriaosEstes

97. The cause of muscle fatigue in athletes is .....
(1) Ethﬂnﬂi Lactic acid
(3)  Glucos Gilycogen

imetiond” :4:;—-: ~end SUese
(1) z&=< (2) =035 eshye
T T
(3) n-EEtE (4) A&'me
o} E
98. The product common for both aerobic and anaerobic respiration is .....
(1), Lactic acid (2) Citric acid
\@ Pyruvic acid (4) (CH.,0),
SRR Boddioo wara TEsdate Tededhe HsEesis BorEKa:
(1) o35 eshssee (2) el estionos
(3) ZEFLS slotw (4) '.[.-I‘"L}{}J'
99. Find the odd one with regard to DNA :
(1) Adenine (2) Guanine
Uracil (4) Thymine
Uwﬂ Ol ['r"'w-.a T-:Qﬂ:@::- ,;i:.l' ?i: :F::"'-:nn-.i n:‘-:..r:: lb—r'-i"--LJ'l-r-:ll:q.
(1) oads (2) TS
i s ] —.: =
{1-3’ U-l:-::-mvi :41' Liu.i.-.J

100. When the yeilow and round seeds of a Pea plant are sown. the plants produce
w-liuw rnund and green wrinkled seeds. The genotype of the parent is ....

£

h o :l' WL e el Ay w6 i"'l..-.._ L g | N =1 Tl T Wy -,_.—_ L T
e L2¥0d r.rJ:-i-'-.r -.h*;:i-.-.- e e e Ut u-n.v-" 1. lh:|-- \.q.-:'n.- bt M e e e _:-.-w..l-‘:u_'t.-‘ n-.-n.-.- e u...q..'.“q.-'"....-" :-:.-.,,
L
bl
ub:-n.v.rq.r" “' I'Iu-q.r hﬁi.-' -a-..-..'-..-l...&..-.J.J -_‘|--|-:|'1.-.'|.|J"'" 1.-.:1_7'1-*.-" |.|.~_-|I|.' w'-....'-'n..- -...-..,h.. L '-...-' -._.1 e ) h.'...'k..- -_.-LA.T.}_J 1_'.'-.._.-
= 'a.!.hr
h-.ﬁ-n-r-l-‘. 'IJ-H_'.W w':‘

(1) YYRR
(3) Yy RR
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Q. Booklet
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Part - I1I : Physical Sciences

101. Which of the ftollowing is not an application of convex mirror ?
(1) Rear-view @ ish antennas
(3) Security \tj})s]urveillance
Bod TIE® HorIS Sre G0k, BRStIe SR8

(1) 8a%t P (2) &QNcdw

(3) HiEo (4) orOmus

102. A student adds a few drops of universal indicator to a dilute solution of
vinegar taken in a test tube. Which of the following colour would be
observed ?

(1) Green @/ Red
(3) Blue (4) Purple

9 LY - = g o = = L1 Ligh [
2.5 DD 0% TOSE’ BRoW TRIE TNewd $70 Hok).o s

(1) sy (2) HoH
==
(3) Ses (4) & Sele

103. Which of the following is used as a mild gntiseptic ?
(1) Bleaching powder Sodium hydrogen carbonate
(3) Sodium carbonate (4) Hemi-hydrated Calcium sulphate

h =0 i, e

F‘ L= =] -
= L el el e
S TS RTeTw wcw.:fsﬁ GRG0

Lol L L= A "— F
(1) SGemh e (2) H;lcwe L:ﬁmm O
(3) Moo RS (4) WPPRBE Ve ¥8S

104. On bringing a lighted matchstick near the mouth of the test tube in which
NaOH and Zinc react .. ..
(1) The matchstick burns faster.
(2) The matchstick gets extinguished
(3) 4 A hissing sound is heard.
A pop sound is heard. ’ =

- P ..-'E-‘- =y - gL EA L "4 i T ._.l.'.--"
NTGH "ﬁm E“::E ‘.i.j.:.,_‘."." el ‘I':: .i;"_-';_l iw"ﬂ;’ﬁ i Ve e b P Fon | e [ B LR ST n!a,- ot a"ln""
e ik

- L
e EYLE = s e - i - “b_. ]
(1) eAds BUm ookobosld. (2) eidpo sSSFescl.
ih o |
o ! T e -~ T o,
(3) sfowicie Tue duwiotosl. (4) 'pop’ e LNeieosl.
L Fd ) =
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105. A given piece of metal is to be shaped into a conductor of minimum
resistance. It’s length and area of cross-section should be respectively :

H.-Hh-:‘ __a

el ST BKHS TR

Se'i.,- gﬁ@g Ww :1.'.!1':1

O o m“ﬁuaé'u.a&

Siven, v
TP SPER) Wlaies WG PERTTTs SN
1
(1) LandA @ 5 Land2A
1 ey
(3) 2Land§A (4) 3Landgﬂ

106. The potential difference between points Aand B is .......
$e08% A ik B detepe & T #35015 it
(1) 0V 1A 5V
@ 1V | e —
(3) 9V *Jj S B
(4) 5V ;
WA
107. Nature of fuse must be :
(I) thin wire of low melting point.
(2) thin wire of high melting point.
(3) thick wire of low melting point.
(4) thick wire of high melting point.
e BotHels ofrPes
(1) B0 S Hoboks wey BREs Fve
(2) B0 Siireio WoOokL SEE RGN0 Fhe
(3) TookAod S0 Wodoks sey (BRGNS Fie
(4) SooBSAS Brrvss BT QY (BALRSS Fo

108.

If the angle between magnetic field (B) and unit vector normal to area of

the coil (A) is 30° in case-1 and 60° in case-2. Then the ratio of flux of

case-1 to the case-2 is

lllllll

SHd.cB 552 (B) o800 SRt DTee (A) B soworm He JTeel 8% Sofiiie
Seac 30° a0l dotsted’, 60° Tl Bokitod® dol, Boiithe -1 il Boitys-
2 © s Wi O
(1) 1:4/3 @ J3:1
5 e | (4) 0

[21]
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109. The increasing order of wavelengths of radiations in an electromagnetic
spectrum is .......
(1) _y-rays, U.V. rays, Microwaves, I.R. rays.
( U.V. rays, I.R. rays, Microwaves, y - rays.
(3) Microwaves, y -rays, U.V. rays, I.R. rays.
@ Y -rays, U.V. rays, I.R. rays, Microwaves.

DT, cH BEBeeEN V3BePY BUoK T & DTN (Kve

(1) y-36ewes, UV, $oepen, E° dtomes, I.R.3vewes
(2) UV SGewen, LLR. S8ewen, Eﬁ&.f Hermres, v -38ewed
(3) WE’ v, ¥ - vewen, UV, 36ewres, LR.38eres
(4) vy -35ered, UV, 35ewes, LR.Soerwn, 20E° HScmmes

110. If the value of principal quantum number is 3, the no. of orbitals and
electrons in that shell respectively are ........

POV o0 3 T Hie S5y0od% es8erEo SoBais SuEED e ST
I'- [ [ o) L= q-'q
(1) 3,6 (2) 9,10 A

9/8, 16 9, 18

111. If ‘m’ is magnetic quantum number and /' is angular - momentum
quantum number, then .......

‘m’ ed,oh THoee Bogs $005 T Selokh ESHa Tewe Sogy wand

\'{'1]'m=2£—1 (2) m =212 +1
; =i
®) £=~’%— AR AR D ey

112. Which of the following electronic configuration represents the element
with maximum electron affinity ?

o, LU = -ﬂ
3ed JE‘-‘E{?E u?iﬁgﬂ'“aﬁi SOOE Ja@;g Eg&?uw LT
1

(1), 1s°2s%2p° 2 1s* 2s% 2p°
(3) 1s®2s? 2p6 3s> 1s% 2s° 2p6 3s® 3p5
113. The total no. of inner transition elements present in the modern periodic
table is .......
BN ST BeIEE' IS woBY BOVYD Sorese $og
(1) =8 18
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114. If B represents magnetic field and I represents

115.

Q. Booklet
Code D

i W ¥ QX

current, then the direction of force acting on
the conductor PQ is .......

edioob §Em) B’ wodoks isnd @amrty [ sy X X A X XB
Firso PQ 2 $I0S wedd

X
vl
b
X
X

©

-—-- (4)  —=—-r—>F

&4

(3)

-
———
—_— e —

Mathematical form of Faraday’s law of electro magnetic induction is ......
PEE Doy, DBBOHI,cH DU KATEN Erido

AB AA
E=— 9 —
(1) v (2) e =

\@/:ﬂ E=‘ﬁ_t
At (4) AD

116. If a straight conductor (not a loop) moves in a uniform magnetic field, the

117.

emf induced across the conductor is called «......

(1) Motional emf \(2D Induced emf

(3) Back emf (4) Forward emf

£ Bin TNTEO (B150) SW0), 2.5 55088 a0t FBos’ Sowstond. & TEed’
SOTAD DT e

(1) Dol AogTmes wee (2) ©0B Dogywl wee

(3) &S ool wee (4) BEmas QTS weo

A substance added to an ore to get rid of earthly impurities during the’
formation of a fusible compound is .......

(1) Slag (2) Gangue

3) Flux (4) Catalyst

Hewd $05° PEYs SolosPis sod® BlTremn Folotnnd® PBsHH KB S
(1) &%rhoes (2) mgh

(3) (058 (4) &dywse
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118. pH values of four solutions, P Q, Rand Sare4, 7, 8 and 9 respectively.
Put them in sequence according to their nature.

(1) _ acidic, basie, basie, basic (2) basic, neutral, acidie, acidic
\@/ acidic, neutral, basic, basic (4) acidic, acidic, basic, basic

E QR Se0cin S e veoln here pH Deodes wtoidmr 4, 7, 8 wolain 9. 2a2
e B0 o (E9ood’ windd

(1) b, B, UG, UG (2) POOe, Besite, &

(3)  =lde, Buide, SPUG0, UL

119. In the adjacent diagram v,, v, represent velocities and n, , n, represent
refractive indices. Then which of the following option is correct ?

B8, $e08° vy, Uy 00 D B0CK 1 , Ny T HIEEEH HomTres cuad 308 T8
Sond

-
{1) n, }RE,U] }52
{2} HI < ?121, Uy < Vg

\ynling,m} Us

@ ny>ny, v < vy

120. When a light ray travels from denser to rarer medium, the refractive

indices of the mediums are V2 and 1. If the angle of incidence is 30°, the

angle of refraction will be ......

i lq_' N’ ﬂ_ [ g : L et e L e R
o5 Seed 38eiion e (0 CUT¥RES oo JUS Cli¥oSe WS AT RS Lo el un&y.-.i..r

HomTren V2 SoScin 1. %60 Seaios Desy 30° Qs HI3LRS S Juod
(1) 60° \,vZJ/ED"

@ 45° (4) 0°

121. A ray of light passes normally through a slab (n=1.5) of thickness 4 c¢m.
Then time taken by the ray to go across the slab is ....

4 0., Rocler liw e 8y (n=1.5) ¥ vower w¥ =es Uere Bairde iy,

&mé el Thed S8me Ralreicumrasd S Pav

@ 21 s (2) EHID'“"&.
(3 %xlﬂ‘ms (4) gxlﬂ'ms
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122. Auto reduction method is suitable for .......

(1) Carbonate ore Sulphide ore

(3) Oxide ore (4) Sulphate ore

oo EoisUe s wiloEreaond

(1) =CRS oD (2) %88 ooy

(3) 3.6 ooy (4) %8S oDy
123. In extraction of iron from haematite, the flux is .......

(1) Coke (2) Silica

@ Limestone (4) Thermite

TEES Sood Fhomanny Bolrotsiipid BaFicNy (N8

(1) &% (2) WOz

(3) SspdTrose (4) 385

124. Isomers of an organic compounds have .......
(1) Different chemical properties. (2) Different component elements.
(3) Same structure. (4) Same physical properties.

B0 Sloire e SEiTres
(1) DS TR Grus R GoFa. (2) 0% evniinds Strruigeio 2R dowraw.

(3) =3 3rro A owra. (4) 2HosETRs BN doran.

125. The secondary suffix for the functional group Ketone is .......

. e
b ommE Le=n

3 Sodi Sorire oo, xSl BRSEED
(1) al (5) (2) oxo (e8%)
(3) oic (£oxB) one (&%)

126. Ethanoic acid is obtained from Ethanol in presence of acidified Potassium
dichromate. It is .......

(1) Fermentation process. (2) Oxidation reaction.
(3) Reduction reaction. (4) Redox reaction. .
dia:ﬁi}ﬁ Ferhpiea @L_EHME :‘:mng:* 576 ool ':.;:‘{.ﬁim.':s"':ﬁr: SGEsB0d. 30 &5
(1) Srss @da (2) esdySoes B8
(3) SoWStes UG (4) . G.:;nE‘: U
127. Gasohol is a mixture of .......
(1) Gasoline + ethanal (Gasaline + ethanol
(3) LPG + ethanal (#) LPG + ethanol
328 53 Dopgsos R
(1) ™S + g5=d (2) mweF0S + 258
(3) LPG + g (4) LPG + 5558
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128. An object is situated at a distance of 2 cm from a convex surface of radius
of curvature 5 cm. The distance from surface at which the image appear
i8 ...

5 0.0, BED® Do o Y HogPTE Boo Wod 2 Vo.Dd. BT’ L8 B
Sovndcd. TP &B0BYo Wed HEDome M S
(1) 0.4 cm (do.0.)

n,=1 J
@ 2.5 cm ( e.bw.) / n,=1.5
»-

(3) 2cm ( >o.20.)
—
(4) 5cm (o.oe.) 2 cm

129. A beam of light converges at a point X. Now a convex lens of focal length
15 cm is placed in the path of the convergent beam 10 cm from X. The
point at which the beam converges now is ......

1
(1) 30 cm from lens towards X. (2) 30 cm from lens towards X.

: 1
(3) 6cm from lens towards X. (4) 5 cm from lens towards X.
Tod 366 Home X' &b Dodio) B8 ScdsbobeiisTran. 15 2o.0. Tgedto v

L¥ X0ersd Kumvd, X' Do) w0od 10 Deo.do, Ertied’ elelysdits $6e Hore
SoB50obeis e

1 -
(1) XPpme Seso wed 30 0.0, (2) X PHie Yes¥o ood 20 o0,
1
(3) XDy Seslo wood 6 Do.b. (4) XD Selo ood o Do,

130. The refractive index of the material of a double convex lens is 1.5 and its
focal length is 25 cm. If the radii of curvatures are equal, the value of ™
radius of curvature is ......

Ay 9 (2) 25cm
(3) 6.256 cm (4) 12.5cm

w5 OSoogrsrl Sl ST :ﬁ@ﬁ;ﬁ;‘: roso 1.5 Boldin o Trgrcblc 25 Be.oo.
DR HES® TGP SEPERD TR HES Tggo |

(1) 0 (2) 25 mo.no.
(3) 6.25 2e.2o. (4) 12.5 2e.ao.
M-Phy.Sciences/Book-D [26]
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133.

134.
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Temperature of a metal rod is heated from 30°C to 60°C. The change in its
temperature on Kelvin scale is .

1¥ S35 58D 30°C w0 60°C 503 I8 Iwwe. afriss’ e 395 Hy,00é®
(1) 30K (2) 303K
(3) -243K (4) 60K

Which of the following statement is wrong regarding t.EHlpL—‘:I‘B.tUI‘E"

(1) It is the degree of hotness or coldness.

'2) It is the measure of thermal equilibrium.

31 It determines direction of heat flow.

@ Average Kinetic energy of the molecules is inversly pr upnrtmnﬂl ‘to

absolute temperature. &7
ifﬁiﬁa D:'l:'r: il aﬂa Yl 51'.-'1.1' ::':f::': o :.-f:l
(1) 20 Sl Sor RNSHH S58

E - S
(4) erwPo Sies HO=ES SU5 SSEHED IS0’ Gowsd.

Equal masses of ice at 0°C and water at 100°C are mixed. The resultant
temperature is ....

SET SR e 0°C B8 Ne Wosis Sedain 100°C % He St S9uEciumass.
>0 HOB &b

(1) 50°C @) 10°C
(3) 0°C (4) 47.5°C
From the graph, the state of the substance denoted by the curve CD is ....
(1) Solid 1
=}
@ Liquid = D E
(3) Gas = B
5 C
(4) Solid and liquid. = ~
PR . = iy . A Time
235, (P woet HSaw CD wo drdens S8 00
M
Q' el 0
5% :35 “:E.«ﬂ D E
I‘f o0 o 6| B
-] i:_"
{4} n..r E’MED:L:- #:5 -:-'-‘3 >
: A podw
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135. Which of the following is the basis of the early attempts of classifications 7

(1)  Atomic number. (2) Mass number.

@ Atomic weight. (4) Electronic configuration.

SareTes H0E0oDN S0me)E SEEINRD LR

(1) Boarew Sy (2)  IE&ST% Dewy

(3) BTErew PUSS (4) Soge JTrgsio
136. The stability of an ionic compound is mostly due to .......

(1) Electron affinity. (2) Ionization energy.

@ Lattice Energ}‘ (4) Electro negativity.

2. X LOIPDE Ba e G35, ‘Jlﬁﬁ“:.d Eplelarte

(1) JoEed bl (2) obIstes B2

(3)  Hyed5 ok 33 (4) woors S TPHES

137. If there are four bond pairs in the valence shell of the central atom, the
bond angle between the pairs would be .......

2 b T e o '~ - FEL] A o e - '-.n._:" — e s am %
Ellnrelomby e b)) Emﬁt&;m e 2HO Lolilid JeFEL aod TR wodi e el o

Gl 1207 (2) 180°
@ 109°28 (4) 0°
138. A metal and non-metal element are likely to combine to form .......
(1) Covalent bond. @ [onic bond.
(3) Polar covalent bond. (4) Vanderwall bond.
S, ST BaTresre Bk DEd wokc
(1) SEodrsadis wolc (2) esdi¥ oolic
(3) &le Shodreddl nele (4) wre&omd wals
139. The bond between two nitrogen atoms in a nitrogen molecule is .......
(1) Single covalent bond. (2) Double covalent bond.
@ Triple covalent bond. (4) Ionic bond.
i TS uta:...;ﬁ il ﬁ:ﬁle e o L)t Sy mowese
(1) Dx¥ssearmboi welo (2) ajﬁaa==f.¢ ale
(3) (@G rmIcH wele (4) ecIroE welic

140. Keeping the resistance and temperature constant, if the potential difference
across a conductor is increased by 4 times, then the current will become .....
(1) Doubled 4 times
(3} No change (4) One - fourth
; e

L] -

—t = - 1 -'-'A-E. s, B, e - o T

h'm:: M’:’E‘ I.-J'E‘ n- EJHDU-P-AJ Ll-'f-} I.:"ul': h:wtﬂ:hﬂi-‘h- W R e -'-H.-rw'-"-r rl-rll"-u"'- -]: b iy
|

S L =

e P Hoo n.-l_..-.'-"'b Earens

(1) E@:z&r’ar_;f (2) 4 Tess eitis
(3) wrEss (4) 7T wcdo sloss
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Code
141. 2PbO+C — 2Pb+CO, is redox reaction. In this, ....... ;
(1) _PbO is oxidized and ‘C’ is reduced.

\@/Fhﬂ is reduced and ‘C’ is oxidized.

3) Both PbO and ‘C’ oxidized.
(4) Both PbO and ‘C’ reduced.
2PbO+C —» 2Pb+CO, 38 ¥ 8&5; w&. 5o5&"
(1) PbO ei.Xbee Teded Sodcio ‘C’ JabXes Jedel.
(2) PhO scistesc Dob0d wdciw ‘Ch &350 3c800.
(8) PbO 08cs» ‘C’ Soir esd stso Tcdc.
(4) PbO 3:8dix ‘C’ Tolr Foioslre Scldow.

142. X) Cu(NOy)yts) —2 2CuOts) + YNO, T + 0, 1
In the above balanced chemical equation, "X’ and ‘Y’ stands for .....

X Cu(NOj)yis) —B8 5 2CuO) + YNO, T + 0, T

= we Fonst Al e e (v @ﬁi Fl o i 5 nat, w L L
S SIeU Bog SURaLD Saostered” X wolain YT oils Brlslell.

W) X=4Y=2 (2) X=4Y=4
GaE =2 v = 2 ) X=2,Y=4
143. Fe,05+2A1 — Al,05+2Fe is an example of . .....
(1) Decomposition reaction. Displacement reaction.

(3) Double displacement reaction. (4) Precipitation reaction.
Fe,05+2A1 — Al,O5+2Fe <ioid o8

(1) &3 W (2) PPt Wl
(3) Syols QPN 90 (4) <STZE DG

144, If an object is placed at a distance of 25 cm in front of a plane mirror, the
distance of the image from the object is .....

25 Baobe Sthrse Basede 25 De.ds. Srbedt oy WS ST, TFw Rdlcwe
W Erbe 'i (hs
(1) 25 cm (de.2e.) @ 0.5m (&)

(3) 12.5cm (do.d.) (4) 0.75 m (&.)

145. The distance of the image when an object is placed on the principal axis atr%iélﬁﬁ::e
of 6 cm 1n front of a convex mirror, whose radius of curvature is 8 cm, 15 ...

L=

: = S e 4 T ¥ i A il T L . L T
| - A - [ ] I wad e :-\J L= - Ml-h---ﬁ:-lhr o & . (S e -
b.‘&‘ -t ':l‘=ﬁ.n- B e = ‘-q ny ¢ M .\,"':-l.i-ulrlll:} -~ Lr._r.-hﬂ o Chy ll;'l."'-"l -
E o l‘l?"--u. .""'Ij‘-"".-qﬁ L o, TUREAL L B T AL T foyge o, w M
flela IS e BJHHLJQWJ ot & |E-.-"h.7l|l'.-.|"n.-'l.'q.du e ™ bt st

@ 2.4cm (Fe.o.) (2 12 cm (R2.20.)
(3) 0.416 cm (e.20.) (4) 0.08 cm (Pe.20.)
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146. The part of eye which controls the amount of light entering the eye is ...
(1) Ciliary muscles (2) Retina
Iris (4) Cornes
\-‘._ = %
35878 Wy e BESFePR)y RdkcBoto ¥eddN iic
(1) 9058 Sobiores (2) °d=
(3) =06 (4) =o&=
147. A person can see clearly upto 2 m and power of the lens which will enable
him to see things at infinite distance is .....
53068 2 2. TURS ISe LR, el sicb Erle S0 SRENCHmO3 il
Se¥ FhoU o
1) -2D (2) +2D
(3) +05D ) -05D
148. A prism with an angle A = 60° produces an angle of minimum deviation
of 40°. The refractive index of material of the prismis ....... (sin 50°=0.76)
(10 EL{:‘:; =TS =53 40" ...ELL SN § r"-*r. :L e e, @ Bl GO0
WISPNT forSo (sin 50°=0.76)
(1) 0.7 (2) 1.414
@ 1.52 (4) 1.732
149. To an astronaut in space, the sky will appear to be :
(1) White (2) Red
(3) Blue @ Black
;:mi;;:ﬁ'g e S etwio SRacus Yot
(1) Sesp (2) o
(3) ~ws (4) wesd
150. The maximum and minimum values of ‘m;" for n = 2 are .....

"l: e L T

— ) M P W, K - Y
n= E' — il d b r”'; m-'ﬂ" ll-'l-’u-‘hﬁ-'\-'*-l‘u":'-: u;inwwww

(1) +2 -2 (2) -2, +2

(3) +1,-2 il =
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